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Written Test for selection to the Post of
Technician ‘B’ (INFORMATION TECHNOLOGY/ INFORMATION &

COMMUNICATION TECHNOLOGY SYSTEM MAINTENANCE)
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srleari & fore @der Instructions to candidates

1. ol Sea¥ &1 URH G F GF YRl GRET T MTAAR ek JReenr 7 fov
T SR @ eAYEd gS|
Candidates should read carefully the instructions in the Question Booklet and OMR
Answer Sheet before start answering.

2, wmﬁmmwﬁméﬂéammaﬂmﬁ@aqﬁw%m
CEIRIRINY IfE 3T A9 & ITerd ST iase H § A 9w U gAR faer
%Wﬁfﬁﬁ?ﬂmﬂﬁ%ﬁmm@maml You have been

called for the written test based on the data furnished by you in the on-line application.
If you have wrongly entered information in the application or you do not possess the
required qualification as per our advertisement, your candidature will be rejected.

3. 3T gRET @fer & et 7 3URRAfy # (W @OT ) A 9F W TR A
You should sign the Call Letter (pasted with photograph) only in the presence of the
invigilator in the Examination Hall.

A, GREA-GF 100 e aTel Uk ReA-RECE §1 Hesl FT Il & o fohT U 7ol
NI e 3Ty HS TS

The question paper is in the form of Question Booklet with 100 questions. A separate
OMR sheet is provided for answering the Questions.

5. 3O eav & A AR F v MR e W s e & e A S
ufeT el (eIl AT ilell) & & 9AeT |
Use only Ball Point Pen (Black or Blue) for writing/ shading on OMR sheet and marking
your answers.

6, FUT &I 3R g BT 9T O fhar g3 uee giEdeRl WSt IS (T/EEE) TANN
dfic & afed & e M g weel AT §1 XA T FE W, IeeR R G
St a8l T e
Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is

mandatory to be written on the OMR sheet in the box and bubble appropriately, failing
which the answer sheet will not be evaluated.
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7:

8.

10.

11.

12.

13.

14.

15,

16.

sfueane e 3 3r9ar A 3T Ao Faw S @ |

Enter your Name and Roll Number correctly in the OMR answer sheet.

AfaT ader 9E & v PRy Dgar & YR W gR 3ccki & Y gt
SRR #r g o & ad U 3ol 3Ty & H Wl el

The written test will be of objective type based on the qualification prescribed for the
post with four answers indicated, of which only one will unambiguously correct.

T et TAF H BT ¢ A & IHTER AN Seck GAh 7 GafOd HSTHR
7T Y I T T Secl A TAT

You have to select the right answer by marking the corresponding oval on the OMR
answer sheet as per the instructions given in the OMR answer sheet.

W@WWW%&WWWOQSMWWWWW )

&l T e 3k T
Correct answer carry one (1) mark each; Zero (0) for no answer and minus zero point
twenty five (-0.25) for a wrong answer.

Y off v & foT &% fAwedl & W W 3ol ITeld AlAT ST

Multiple answers for a question will be regarded as a wrong answer.

MR e 3 caegdes ol faRed sewsm e e w¢ i smeef)
Marking in OMR may be done with utmost care. No spare OMR sheet will be provided.

faf@a adierm gfer & 3ieT W‘@T%ﬂgﬁﬁmﬁﬁﬂqﬁﬁaﬂ?msﬁaﬁﬁﬁ?
FUFON, UG G, ACH 3fe, FeT & rgAfer A & Set|

Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

W@ﬁﬂmmﬁ%ﬁmmmﬁmmﬁ%ﬁﬂ%mmm%l
F15 rfafed e 78 & sl

Space available in the Question Booklet can be used for rough work, if required. No
separate sheet will be provided.

&t gt gl W, (1) qﬂamgaﬂﬁ‘@ﬁwaﬂmww(z) HTHAIR Ik
T3 1 Y O fede Red ¥ e o o 3R A AR 3ok e T
aﬁﬁq&mogﬁmqﬁmﬁmaﬁmmﬁl

On completion of the test, (1) Hand Over Written Test Call Letters with photograph
pasted on it (2) tear the OMR answer sheet along the perforation mark at the top and
hand over the original OMR answer sheet to the invigilator and retain the duplicate
copy with you

srrEarRt @ gleT & uger 6e & e qdieT g orse T Al e § |
Candidates are not permitted to leave the Examination Hall during the first one hour of

the examination.
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0.

wmude () @®IE 2>/ What is earthing?

a) PCB URuy W ARIET / Grounding on PCB

by et Susszr &1 g ufekiy ane & ugl gRITE WSllga/  Connection of equipment
body te a pit through a low-resistance copper strip

¢) gl Y wfol ygrf @@/ Mineral extraction from earth

d)y Ycd TR B qiﬁﬁ WSS / Neutral wire connection to earth

0w 3.5 fafore wed Hiee dl YAdH U i T8N 2/ Whatis the least count of 3.5 digit
millimeter ? :

(a)1/3.5 (b) 1/3500 (c) 1/1000 {d) 1/2000

a2 U 40 T ITE T 1750 U2 Tl d) U U J¥e! @ud fava febeiaie g2/ What is the

kilowatt-hour consumption of a 40 W lamp if it remains on for 1750 h?

(a) 43.75 (b) 70 (c)43.750 (d) 70.000
8 g Rad sehera & # Tarferd giar g / ~ diode is operated in the reverse
breakdown region

(a) LED (b) Photodiode (¢) Zener (d) Rectifier

83 fib. 3T 5% Ufekly &l deRdIs ___ gldi g / Color code for 83KQ £ 5% resistance is

(a) WHE / White. AW / Orange. @I/ Red. didt / Silver
(b) R&d / Grey. AR/ Orange. A0/ Orange. T / Gold

(c¢) B/ Green, AR/ Orange, IR/ Orange. T80 /Gold
(d) Rerdl /1 Grey. IR0/ Orange. o / Red. g /Gold

(10010012 = 10

(a) 37 (b) 63 (c)73 (d) 93

151 fRIG & / The symbol for Tin is
(a) S1 (b) Ti (¢) Tn (d) Sn

Py 7 B-T difore Ued a9l 8/ Which of the logic is fastest

(a) RTL (b) ECL (c) TTL (d) DTL

, =g 31 g9ild :E-" / The symbol X represents

(a) @Icidhed / Conductance (b) DRfOr& UfdeTd / Inductive reactance
(¢) e1fdr- ufdurd 7 Capacitive reactance (d) URRY / Resistance
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10.

14.

16.

afe U SR TR 4 Ufal o 1 der, AT, et qu R 8, ol I 7 febei g g 2
Resistor whose Four colour-code stripes are Yellow, Violet. Red and Gold will have a value (in
ohm) of

(a) 3700 + 5% {b) 3700 + 10% (c) 4700 + 5% (d) 4700 £ 10%

Ul 0w 1 Fel)- AT SaRiye BT 20V ek & YR T o df I T 2 @ siuend
8T 2 / A 1 kohm resistor is directly connected across 20 V battery. What is the power
dissipation?

()04 W (b) 20 W (c) SO W (d) 20 kW

P UR Bt fefara® wred § Uqy digdh 1 8?7 / Majority carriers of P-type semiconductor

material are
(a) Holes (b) Electrons  (c) Protons (d) Nutrons

ZYTAd T 84 &1 FHA M 8 / Binary equivalent of decimal number 84 is

(a) 10010100 (b) 00100100 {c) 01100100 (d) 01010100

e ShwIER @ TEmt 50 AT aur Qbusd A 200 gAE 81 1 81 T AR grate 15V AC
TR § e o ) Aepvedt & fraA dieds I gl

A transformer has 50 turns in primary and 200 turns in secondary. Assuming no losses. if 15V
AC signal is applied to primary, what is voltage developed in secondary?

(a) 15V (b)y30V {c)ol vV (d)y240V

feforea drenfie & ug g9 are dfies e e 8/ The Universal logic gate used in the digital

technology

(a) AND (b) OR
(c) NOT (d) NAND

sjRacl 7 T 100 pF & 3 et &1 ot HuTRd fe&a=t 8171 2/ The total capacitance of

3 capacitors of 100 pF in series is
(a) 33.3 pF (b) 50 pF (c) 100 pk (d) 300 pl

9 W TP B URAHTR AT Uk S-&a1 &l & 2 Which class of amplifier gives

maximum power efficiency?

(a) A (b)yB (c) AB () C




18.

20,

27

g ufvgy | A B C D, Eand FUZ sfored 3 Jeyc 1 @Tﬂ 2/ What is the digital output at A,
B.C.D.Eand F ?

=0 (b) A=0.
| (d) A=0.

o2 we TiRCY T IE = 4.2 mA & IC = 4.0 mA § T ST 99 yaTe efel fbai gt 2 / Whatis

the current gain for a common-base configuration where I = 4.2 mA &1C = 4.0 mA?
(a) 16.80 (b) 1.05 (c) 0.51 (d) 0.95

YRd 7 T 1, diecst Bt Bﬂqﬁ‘l B_rfﬁ‘i% / Frequency of domestic AC voltage supply in

Indiais  Haz.
(a) 30 (b) 60 {(¢)230 (d) 400

4 foe & fgamurl wri® 0111 H12's Hieie I8 / The 2°s complement of 4-bit binary
number 0111 is

() 0111 {b) 1000 (c) 1001 (d) 0001

1072 % B g 71§ g St o1 Qudlv faar o garat 8 / Which of the following prefix can

be used for 107129
(a) el /mega (b) A /nano (c) A/ pico (d) AEH! /micro
g 7 9 @ 1 gl Suia ¥ sy, Guriar dur diees & si9 Gy @ guid 82/ Which of

the following equation represents relationship between charge, capacitance and voltage for
capacitor?

(a) Xc = 1/2nfC (b) V=IR (c)Q =CV (d)C=QV

€ifreR SR § 1C/1E UR1 30T 1.0 T T glell 8 SR suel __ A quia g / A currenietio

ol IC/1E is usually less than One and is called:

(a) |IET/ beta (b) e/ theta (c) el / alpha  (d) S/ omega

w U feeaR) (36 YFwRR) 3 -Ha5 ST WX Jeddh JopH dleesl e T &/ The

peak reverse voltage across a non-conducting diode in a bridge rectifier is approximately:

(0 ) IeFad fgdiae dleesl &1 YT/ half the peak secondary voltage

(b) IAdH fgdlas gieesl &I 1T/ twice the peak secondary voltage

(¢) focitae diedsl &1 I=dr Hed/ the peak value of secondary voltage

(d) fedtae qlecsl & Il Hed &1 IR AT / four times the peak value of secondary voltage
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26.

28.

29,

(9]
o

33.

TSR §¢ 8l Wl 8, 9 UAte varg fu g R R s e,

The SCR is turned-off when the anode current falls below,

(a) 3T BT P AT Forward current rating
(b) BIf&ET BT Holding Current

(&) o 3ffa dlee Break over Voltage

(d) AT FEC Latching Current

U 250 ¢ & AT P 250 dlee T A Sigd W YaEled fagygd-udTe g/ Lamp of 250 W is

connected to 250 V AC supply. Then the current passing through lampis .

(a) | mA (b) 10 mA (c) 100 mA (d) 1000 mA
JUBIU & 3 H g e % / Calibration of an instrument involves

(a) SIREUN / Maintenance (b) HIHd / Repairing (¢ HeUdTid/ Finding the Least
count (d) U HITH & Y SIS PD Td & AU Bl YUR / Comparing with a standard and
correcting the measurement

afe il AR &1 22 ¥ 26 AWG T §Gai dl / By increasing the wire gauge from 22 to 26 AWG

(a) @ RIYHAl El%‘ / Resistivity will increase (b) ARy a%‘ /Resistance will increase
(c) dTcTehdl a%} / Conductivity will increase (d)ﬂwaa“ / Inductance will increase

3iresf op-amp ® Fafefad MU 81d § / The Ideal OP-AMP has the following

characteristics

(a) Ri=co, A=00,Ro=0
(b) Ri=0,A=0o,Ro=10

(¢) Ri=wo, A=00, Ro=00
(d) Ri=0,A=0, Ro=

e W HT 3MYR 8 / The base of binary number is:

(a)2 (b)8 (c) 10 (d) 16

TqTE as # file sats .. o & ST EIAE / [n MS Word, ‘Print’ command is found inside

the menu.

(a) & /View (b) U&E/ Edit (c) T& /Tools (d) ®1sd /File

GHUE A A ... HUS GRI BI3d Gidt of Gad & / In MS Word, A file can be created using

~_command. i

(a) ¥4 /Save (b) 3T /Open (¢) G /New (d) ufge /Edit




37.

38.

40.

41.

fEefie ot 7wt wgd e A SRR /- All deleted files goto

{(a) m‘a‘m /My Computer (b) STHCIY/ Desktop
(c) g ed fa /Recycle Bin (d) 18 STagHeE /My Documents

I3y 1 UBR &1 3UHIITE /A mouse is this kind of device
(a) 379/ Input  (b) 3M3CYC /Output () Jegd /Network (d) W /Storage

srgex 1 FAufoiad o 9w difsar wrse WIHe &1 TaeeH 87/ Which one of the following is an

extension of video file format in computers?

(a)jpe (b) exe (c) mpg (d) bmp

ofafRd § Qo el WY fEasy &1 IeEU gl 8?2 / Which of the following is not an

example of secondary storage device?

(a) B1E &% /Hard disks  (b) YA/ RAM (c) e AU /Magnetic tapes  (d) HEl/ cp

FTER B e B3 & fore Fafifd & § & wf enis &1 wa fFar s 87 Which of the

following commands is given to reboot the computer?

(a) Ctrl = Alt + Del (b) Ctrl + Alt + Tab
(¢) Ctrl + Shift + Del (d) Ctrl + Shift + Tab

‘A" BT ASCIl BIE 8- / The ASCII code of *A’ is -

{a) 60 (b) 80 (c) 65 (d) 100

JgferfEa o @ o1 wie Bred Taqey 27 / Which one is a font file extension?

(a) pdl (b) ttfr (c) doc (d) xml

[PV 4 U ST 3B BIal 8-/ The size of IPV4 address is —

(a) 16 fdT/16 bit (b) 32 fae/32 bit (¢c) 64 f9T/ 64 bit (d) @12 981 /None

OS1 Hige § fore TR 81 82 / How many Layers are there in OSI model?

(a)6 (b) 5 (€)7 d) 8
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44.

46.

48.

49,

ydd eyt Ube  arawa Ffgd g1 Af@T- / Each 1P packet must contain -

(a) HIA RAIES| fo’ﬂ? Only Source Address

(b) A SHfEATA f{%ﬂ Only Destination Address

(c) @ﬁ@?ﬁlﬁﬁ"\’ﬂ Q%TI Source and Destination Address
(d) Wﬁ@ 13 21 None of these

AEEE] Sﬁ%waﬂiﬁ Y6 DR BT e gidl %/ Inner core of fiber optic cable is composed
of,
(a) X/ liquid (b) BIW/ copper  (c) @I W Glass or plastic (d)ﬁ}mf Bi-
: metallic
DHCP . ...®TH&TRI / DHCP is the abbreviation of —

(a) Dynamic Host Control Protocol (b) Dynamic Host Configuration Protocol

(c) Dynamic Hyper Control Protocol (d) None

Ty Mo ¥ R S A1 DT Faer- IRU=S Reuae afdy Jucss #RId18? / Which

protocol provides a connection- oriented reliable service for sending message?

(a) S TCP (b) 3MEH/IP () EIM/ UDP (d) Juad H § BIE 76T /None of these

Praff@d # @ a1 gar o Sel U9RU HiegH 27 Which one of the following is the fastest data

transmission media?

(a) TS OO /Twisted pair (b) BIHRITEA/ Coaxial
(c) Fe-5 /Cat-5 (d) WTgaR-3MfP@/ Fibre-optic

o1d fowm 1 3o A Ruferd v o @ R et i  3u-Roafora favan s 21

A hard disk is divided into tracks which are further subdivided into -

(a) G /Clusters (b) ¥&I /Sectors
(c) ddeX /Vectors ((])G’Uﬁﬂﬁﬁ@&ﬂéﬁmone of these

froffed & § @ Sevie 94 g9 2l 87 / Which of the following is not an internet search

engine?

(a) TPTd /Google (b) TIg /Yahoo (c) fam /Bing (d) fd81 7. Windows7?
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30.

51.

o
[

h
th

S

38.

Pufead A O o1 Tuy 98 s B 99 TaHeRH 82 Which of the following is a valid

extension for a MS Word file?

(a) xls (b) txt (¢) mdb (d) doc

o1 ¥R A F1 N ez Rfea o1 @l wiam T & uRafid @ 82

In data communication which device converts digital data to analog signal?

{(a) I3 Router (b) {1SH Modem c) &g Switch (d) 89 Hub

RufafEd 7 9 qur daw 3 (edd awR)  Yleldrd 22 Which one is a layer 3 (Network Layer)
protocol?

(1) g&Idl uDP (b) BTTTH DNS (¢) S TCp (d) g /1P

TieTge..... & aRlER BT €1/ The term gigabyte is equal to

(a) 1024 915/ 1024 bytes (b) 1024 fHeiaEe, 1024 kilobytes
(c) 1024 TATIEISC /1024 megabytes () 1000 TEES,/ 1000 megabyte

R145 gEdR BEa H.. AREAEI / RI4SUTPcablehas  of wires.
(a) 2 SN8T /2 pair (b)3 Gﬁ@ /3 pair (c)4 Gﬂ@/‘l pair (d)5 Wat /5 pair

Pufaf@a § @ &= 9@ A W“(ﬂ?%ﬂ?ﬁ 82 /  Which of the following memory is volatile?
(a) A1 /ROM (b) ¥4 /RAM (¢) SRIM/EPROM  (d) WIH/ PROM

Yeafb 7 wAN YUY $1 ggarad A JuAN far ol 8, 35T Qo FU 182 WAN is a most
used abbreviation in Networking, what is its full form?

{a) Wap Area Network (b) Wide Area Network

(c) Wide Array Net (d) Wireless Area Network

P o § srgex B SidRe HAR @ €7 /Which of the following is internal memory of

Computer?

(1) 1% Disks  (b) U1 €134/ Pen Drives (¢) Y/ RAM (d)y 18 /CDs

diofu o1 quf =9 &1 87 / Full form of VGA is
(a) Video Graphics Array (b) Visual Graphics Array

() Volatile Graphics Array (d) Video Graphics Adapter




60.

61.

63,

64.

65.

66.

67.

AgffEd 5 ¥ gqc f&arg T 82 Which of the following is input device?
(a) WY/ scanner  (b) T@R/ speaker (c) HileY/ monitor (d) giotaey /projector

TS A v a7 HeRv fEargy g1 Wi Im 31f 8-/ One of the popular mass storage
device is CD ROM. What does CD ROM stand for?

(a) Computer Data Read Only Memory

(by Compact Data Read Only Memory

(c) Compactable Disk Read Only Memory
(d) Compact Disk Read Only Memory

. W TS B YR P AR H OO B T B Sl ¢

The gives specific information about the type of file
(a) WIS & AW/ File name (b) WT3d TTY/ File path
(c) BIgd UM / File extension (d) Wrgd &ec /File content

(100101 2=(___ )16
(a)4C (b) 3F (c)4B (d) SD
SYHd HEAT 85 &1 GHATR fGanurd % / Binary equivalent of decimal number 85 is
(a) 10010100 (b) 00100100 (c) 01100100 () 01010101

fareh Siagile 3 it ) e 3 oy ad i o ¢

The word processing task associated with changing the appearance of a document is

(a) ¥ 3T /Editing (b) ¥ ¢l Writing
(¢) wrHfET /Formatting (d) G’Cﬂjﬁﬁ I+l /A1l of above

Tofafad 7 9 @ 148y Tftedar T8t 87/ Which of the following is not anti-virus software?
(a) &4 MNorton (b)ﬁl@?@ﬁ/ Kaspersky (c) 3R&d /Oracle  (d) THTBY McAlee
B 1 faaww Ul & / Which is valid statement

(a) | KB = 1024 Bytes (b)y 1 MB — 1024 Bytes
(c) I KB = 1000 Bytes (d)y 1 MB = 1000 Bytes

giqc afe 0Td 1 %Fﬁ AND T & feTu 3 Jcyc Ry g1 g7 What is the output state of an AND

gate if the inputs are 0 and 17
(a) O (b) ] {c) 2 ((I)T{U'ljﬁﬁﬁ@ﬁ‘ﬂ%f 8! ‘None of Above
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68.

69.

70.

71.

73.

74.

13

NOT ﬁzﬁa‘r?r% /A NOT gate has

(1) Q) g 14c Ud Udh ¥ 3 /Two inputs and one output
(b) T g19¢ Ud U 3M3<Ye /One input and one output

(¢) U 3¢ Ud &1 3T13TYC /One input and two outputs
() G'C@—Clﬂf[@ Eﬁﬁ?ﬁﬂ None ot Above

Trg e ua RmTger & e g @ 9 e Iuah fba o 82

Which of the following is used for modulation and demodulation”
(a) HI3H/ modem (b) I3/ router
(¢) 8- A Iia /de-multiplexer (d) Tee @R/ multiplexer

forad W &HIS "cp”  fore fruw were el 2

How do you get help about the command “cp™ on Linux?

{(a) helpcp (b) man cp (¢)cd? (d) cd cp

e R WIed ger ¥ o i S 1 UaT faa ST g7

What command is used to remove files on Linux?

(a) dm (b) rm (c) delete (d) erase

AGP WWWW%? / What is the full form of AGP?

(a) Accelerated Graphics Port (b) Advance Graphics Port
(¢) Advance Graphics Protocol (d) None of Above

faref) e 1 g & R H O & AU @1 TaMd- / To move at the beginning of'a line inside

a document, press -.
(a) End key (b) Home key (c) A (d) Ctrl +End
& RI$S § / One millisecond is

(a) 1 second (b) 10" of a second

(c) 1000™ of a second (d) 10000™ of a second

100 firef ordfioR & &RTeR BIdTE / 100 mA (milli Ampere) is equal to

(a) 1A (b) 0.1 A ()0.01 A (d) 10 A
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76.

77.

78.

79.

80.

81.

82.

220 Q 5% URRIYS & T ek $Is 82

What is the color code fora 220 Q 5% resistor?

(a) TTE, T1d, YT, Y=l /Red. Red. Brown. Gold
(b) TR, AR, BIT, Y831/ Orange. Orange. Black, Gold
(c) @1, E1d, Brel, YAl ‘Red. Red. Black, Gold

(d) @IS, @M, 30, ¥6id /Red, Red, Brown. Silver

T 10 Q (3NN F T URRIHSD] &) AR SIS faar o @t gat wfadie gi-

If two Resistors of 10 © (Ohms) are connected in parallel, the total resistance will be

(a) 10Q (b)20 Q (c)5Q (d) 100

T 3.6 pF TUTRT 2.7 wF SR & W TARR 9itg o g, o ysrd enfeet g1il-

A 3.6 uF capacitor is connected in parallel with 2.7 uF capacitor, the effective capacitance is

(a) 6.3 nF (b) 3.6 uF (c) 2.7 uF (d) 9.7 uF

(a) INIOJHCHZ (b) l_\IO(' Herlz (c) Ix10 ? Hertz (d)y 1 Hertz

R Hﬁ’&’ﬂ’s‘% -/ Unit of Inductance is

(a) FARAD (b) OHM (¢) HENRY (d) HERTZ,

(a) é_\s'?ﬂ%? B & AI9Ed B /Landline phone to mobile phone communication

(b) fEagyl & d 9dr/ dR fed LT Wireless communication between devices
(c) AIETEd B Wﬁiﬂﬁ@ﬂ'&l‘ﬂ? /Signal transmission on mobile phone

(d) JUUE Calfae WdR /Satellite television communication

TR 3 U TAIgS UR W & o0 1A w1 FHTS faul Wit &7

Which command is used to go to the first slide of the presentation?

(a) Next Slide Button
(b)Page Up

(¢)Ctrl + Home
(d)Ctrl + End

3 =41 YRRl WEATSTIHATR | / A new presentation can be created from

(a)@Tel! BRAT®RUI blank presentation

(b)f&dgrAT Ul /From existing presentation
(c)fesirga e /from design template
{d)G’Wjﬂ'ﬂWﬂ A /All of above
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gy, Froferfaa o O &1 siurfd e ¥ I2RIU TS / Which are the following is not an example

ol Operating System?

(a) ﬂﬁm 3T /Microsoft office
(b) fds fawr /Window vista

(¢) YT /Unix

(d) Uﬁiﬁﬁ'@ /Ubuntu Linux

g5, Ul UGE BIed &) gdhgd bel ol §, i/ Each Excel file is called a workbook

because.

(1) T PRE TG ST MR gl 2 It can contain text and data
(b) 3G GUR a1 51 FHd1 & 1t can be moditied
(¢) 34 adefie Td 91 Hic ufed &% ofie gffgd 81 € / 1t can contain many sheets including

worksheets and chart sheet

(d) H& ST ¥ U 3! BHTH! AgTd CEGIRER 2/ You have to work hard to create it
86, frafeiad ﬁﬁwmﬁ 3T3TYL %ETE?T:@%/ Which of following is not an output devices

of computer?

(a) U /Printer
(b)®1-a18 /K eyboard
(¢) iy, Monitor
(d)yTTdBR /Speaker

97 WWW T 3 8- WWW stands for,

(a) World Wide Web
(b)Work Within Web
(c)World Wide Wan
(d) World Work Wide

88. ﬁwxmﬁza&ﬁ@mmmm%mﬁ?wﬁﬁ%

Two input XOR gate produces a High output only when its inputs are

()3 High
(b)fafirs /Diflerent
(C)ﬁﬂ-" Low
()HTHA /Same

g9. g d8 &H ey AT - flice 8?2 / Which of the following printer is a Non-Impact
Printer?
(2) % oie feT /Ink Jet Printer
(I)J’Efl?ﬁﬁﬂ'ﬁﬂ fiiee/ Dot-Matrix Printer
(¢)digd e /Line Printer
(d)é’ﬁ,ﬁﬁﬁﬂ fifed/ Daisy-Wheel Printer
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90. WW N BroRdle 1 82/ What is firewall in computer network?

91.

93.

94.

(a) g Acdd Bl s 88 B Itisa physical boundary of Network
(b) Y Jeqd BT SR REEH §/ An operating systems of Computer network
(c) GH'IﬁI?{ﬂ TR Bl A & oy f3emg= P TS WOTTE / A system designed to prevent

unauthorised access

(d) 99 FRIRf YTeduY A web browsing software

TEETd] &1 aref %’— FTP stands for.

(a) File Transfer Protocol

(b) File Transmission Protocol
(¢) Form Transfer Protocol

(d) Form Transmission Protocol

AR & % foT 1EEE 802,11 HI® R g Heelud Ty deb-iics BT JUaT fasat Sirell g /

Which multiple access technique is used by IEEE 802.11 standard for wireless LAN

(a) WElTHw CDMA

(b)Hrugumy/Ae CSMA/CA

() UEE ALOHA

(d)ijaﬂ ol Eﬁﬁ T8l None of Above

ara® feed. . . .@[W%‘/Oscillator crystal are made of

(a)ﬁ?ﬁ?ﬁ?/ Silicon

(b)SRAMTH / Germanium

(C)Eh_i—cf_ﬁ/ Quartz

(d)Se # ¥ ®Ig T8l / None of Abave

WPA &7% / What is WPA

(a) Wi-Fi Protected Access
(b) Wired Protected Access
(c) Wired Process Access
(d) Wi-Fi Process Access

HIRA W $I BT Bl B & ol HrgeY T BTACE / A set of computer programs used on

a computer to perform certain tasks is

(a)f{ﬁm Memory
(b)UER Processor
(¢)TEAT Software
(d)ZHgaRT Instruction
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90.

97

98.

99,

100,

EMF 1.5V Td 1 Q 3R Gy AT d A6 TR WU 8 IS @ 0 G EMF 8-/
Three Cell. each of EMF 1.5V and internal resistance of 1 2 are connected in parallel. the
cquivalent EME is

(a)1.5V
(b)y4.5V
(c)43 v
(d)3 Vv

UeHd A drgaey 7 &2/ An Astable multivibrator has S

{a)ﬁf@ﬂ fyfagi / Two stable states
(h)wmi—@lﬁ / One stable state

(c)ﬁ%E faR fRIf 987 / No stable state

(d)@'E 3 Iuygad R / Any other above condition

reedl td e damTH & foru g Juau &1 Udi g S g / Which instrument is used for

observing voltage and current waveforms

(u)TT(f_ch-ﬂ_d? / Multimeter
(b)SITATH / DMM

(¢) MDY / Oscilloscope
(dy3nfle - Ammeter

CRO @) Gaeiadr ... gRI Uik P 81 / The sensitivity of CRO is determined by

(a)&}ﬁﬁi wadd / Horizontal Amplifier
(b)t{?ﬁf?ﬂ wadad / Vertical Amplifier
(¢) T 3NRITR / Sweep oscillator

(d )G‘Eﬂiﬁ 7 @ $I 78! / None of above

63Sn-37Pb T8 BT W%ﬁ% Melting point of 63Sn-37Pb solder is

a
=
AN NN
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